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i Vi lai Ivi 2 Vi(lvi—1vj) Cilui — X Vj(ui—1uj) Calui Cslvi Mi

&N) | (m) | (m) (kN-m) (kN-m) (kN-m) kN-+m) | (kN-m) (kN+-m)
1 17.3 0.0 | 0.00 0.000 0.00 0.000 0.00 0.000 —164.0
2| 12.6 3.6 | 1.08 18.31 120.4 —61.03 160.4 —34.3 138.91 —99.6
3| 12.6 7.2 1 2.16 49.96 240.9 —166.5 320.9 —68.5 291.1 1 —178.9
4 | 12.6 | 10.8| 3.24 94.94 361.3 —316.4 481.3 —102.8 456.6 A —102.8
5| 12.6| 144 | 2.16 36.62 481.8 —510.9 641.7 —68.5 518.81 —102.5
6| 126 | 18.0| 1.08 —35.04 602.2 —749.7 802.1 —34.3 567.6 4 —146.6
71 17.3| 21.6| 0.00 —120.1 722.7 —1032.9 962.6 0.000 603.1 4 —235.3
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i Vi lmi Ivi 2 Vi(lvi—1vj) Cilui — X Vj(ui—1uj) Calui Cslvi Mi

&N) | (m) | (m) (kN-m) (kN-m) (kN-m) (kN+m) | (kN-m) (kN+-m)
1 17.3 0.0 | 0.00 0.000 0.00 0.000 0.00 0.000 —164.0
2| 12.6 3.6 | 1.08 18.7 122.9 —62.3 164.0 —34.1 141.6 A —96.4
3| 12.6 72| 2.16 51.0 245.8 —169.9 328.0 —68.2 269.84 —74.1
4| 126 | 10.8| 3.24 96.9 368.7 —322.9 492.0 —102.4 465.6 A —97.3
5| 12.6| 144 | 2.16 37.4 491.6 —521.3 656.1 —68.2 529.04 —97.4
6| 12.6| 18.0| 1.08 —35.7 614.5 —1765.0 820.1 —34.1 578.81 —143.0
71 17.3| 21.6| 0.00 —122.5 737.4 —1054.1 984.1 0.000 61491 —234.0
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